i Pl - Ths . ME-TE P~ Iy
C—1 | RTINS - 2k FATO - dks (O ) rrio-as P10 - 4k m ks
M1 270 - Zks =) 2ok P2 s

PAT 2018 - dks)

C t DETAL
140 A b S ’
7o s r.:11}~:£5
= i 1
-._r_'. “
) 54 p ELK
iR i
188

PATZx1E - dis

>

o
W
|

AT

(Lo s ol A

ERODA OCTAVIA [KEMBI) = $0844/C - 25102004

... PAPKQNOB

- V miestach stykovych pldch sa musi odstranit’ pruzna ochrana
Il 1.Uvolnite &altnenie po stran4ch a odpojte konektor parkovacich senzorow.na lavej karosérie-vozidlas
strane batozinového priestgiu. l 2:Demontujte vysuvie listy pod svetlami‘a uvoinite - Vitané otvory freba osetrit antikor6zaou hmotout
zadny plastovy naraznik spelu s kovovou vystuhou naraznika. Uvolnite wvyfuk a tepelny - Pouzite/len.dodany spojevaci matefidhy predpisanejiricde kvality.

stit vyfuku. ] 3.0dlepte félie montaznych otvarov na pozdiznyeh nosnikoch vozidla. i . ' . , ; .
4.Nasurite rdm do nosnikowv karosérie. Do mantaznyeh otvoroy vioZie,upeviovacie § Eleklrigke Zariadgfie sa ndindithjepodie poginicaok Bevadzky

skrutky M10x35 s pruznymi a hladkymi podiozkami podla obrazku. Skrutky utiahnite g:es?nych vozﬁdigl na poz_emn)'lch Iy(czmupikémas:h_. ’
kratiacim momentom podra tabulky. il 5.Zapojte vodige elektroinstalacie podia navodu. - Udaj S 0 maximalnom zvislom zatazeni na gulu je uvedeny na
ll 6.Skontrolujte spravnost pripojenia elektroinstalacie. ] 7.Demontuijte spojovaciu gufu. vyrobnom §titku tazného zariadenia.

[l 8.VyreZte vybrania v spodnej &asti naraznika na drziak spojovacej gule a

- Znom zariageni nie je mozné ni¢ upravovat ani menit.
elektrozasuvky — DETAIL A-uchyteni D L @-ughyteni A eko v3etky spoje podla
9.Namontujte spat zadny plasthnW/Why, m @ u m i ,fg r
tazného zariadenia. ] 10.Prevedte spain( montdz dal§iciideri@niovanich Bast 1, nost je nﬂtne obran

e

Namontujte spojovaciu gulu. Dotiahnite skrutky spojovacej gule (drziaka spojovacej gul ) pj"?i e akyt(:jh ‘?IVe nejas t sa na vyrobcu
momentom podla tabulky. zneno zariaaenia.

—emednagfarkop@yandex.ro

I L. Release the padding from both sides and disconnect the parking sensor connector - Remove insulating material on a car body in grips and joints of a
on the left side of the luggage compartment. [l 2. Remove the telescopic strips under the coupling device with a car body.

lights and release the rear plastic bumper together with the metal bumper reinforcement. - Pyt the anticorrosive substance on the drilled holes.

Release the exhaust and the thermal exhaust cover. l 3. Peel off foils covering - Use supplied mechanical strength jointing material.

assembly holes on the frame side beams of the vehicle. ] 4. Insert the tow bar into the
consoles of the bodywork. Put the M10x35 bolts with spring and smooth washers into
assembly holes as shown in the picture. Torque the screws as shown in the table. l 5.

- Wiring of a coupling device must be up to a standard and car maker
requirements.

Connect the electrical installation conductors as described in the instructions for use. Jj - Statement S about the maximum vertical ball downtake is printed on
6. Make sure the electrical installation is properly connected. ] 7. Remove the linkage the tow bar label.

ball. || 8. Make a recess in the lower part of the bumper for the linkage ball holder and - On the tow bar is no modification possible

electrical sockets — DETAIL A — to fix the A ball and — DETAIL C - to fix the C ball. l 9. - Check all the joints, look in the table of the spining moments, before
Replace the rear plastic bumper without the metal reinforcement, which will be replaced finishing the montage!

by the tow-bar frame. l 10. Reassemble any removed parts. l 11. Fit the linkage ball.
Tighten the screws of the linkage ball (holder of the linkage ball) to the torque shown in
the table.

- Contact the tow bar marker with any questions.
- The manufacturer is not responsible for the damages caused by
wrong using on the product.

Tabulka utahovacich momentov skrutkovych spojov pevnosti 8.8 / Table of specified torque and hardenss settings 8.8
M6 - 9,5Nm, M8 - 23Nm, M10 - 46Nm, M10x1,25 - 49Nm, M12 - 79Nm, M12x1,25 - 87Nm, M12x1,5 - 83Nm, M14 - 125Nm, M16 - 195Nm



http://magfarkop.ru/

